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Subtraction - Traditional
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I You will need to work from the units, then move onto the tens and then move onto the

: hundreds.
|

| Example: 573 - 397 -
IWrite your working out like this:
H T U
Sz '3 (3 - 7 is not possible, therefore 10 is taken from the Tens column)

=3 9 7 (50-90isnot possible, therefore 100 is taken from the Hundreds column)

Complete these take away sums.

1) 4 6 2 2) 7 3 5 3) 9 2 8
el iy o -3 & B8 -5 8 6
4 6 0 6 5 2 &6 3 6) 6 4 3
=3 K B <1 & -85 8% 7
N 4 7 4 8) 2 00 9) 7 1 6
s vy o % - -5 3 9
0) 7 0 O 1) 4 0 6 12) 8 0 O
- 3 - 9 B
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